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1. The ratio of the number of boys and girls in a college is 3:2. If 20% 

of boys and 25% of girls are adults, the percentage of those students 

who are not adults is:

एक कॉलेज में लड़के तथा लड़ककयों की संख्या का अनुपात 3:2 ह।ै यकि 20% लड़के तथा 

25%लड़ककयााँ वयस्क ह,ै तो ककतने प्रततशत छात्र वयस्क नही ह?ै



(a)80000 

(b)75000

(c)60000

(d)10000

2. Ram spends 40% of his salary on food, 20% on house rent, 

10%on entertainment and 10% on conveyance. If his savings at the 

end of a month are 1500, then his salary per month (in ) is :

राम अपने वेतन का 40% भोजन पर, 20%घर के ककराये पर, 10% मनोरंजन पर और

10% यातायात पर खर्च करता ह।ै यकि महीनेके अंत में उसकी बर्त 1500 ह,ै तो 

उसका

मातसक वेतन ककतना ह ै?



(a)  # 50000

(b) # 40000

(c) # 30000

(d) # 20000

3. A person gave 20% of his income to his elder son, 30% of the                            

remaining to the younger son and 10% of the balance, he donated to a 

trust. He is left with10080. His income was

एक व्यति अपनी आय का 20% बड़ ेबेटे को,शेष आय का 30% छोटे बेटे को ितेा ह ैऔर

शेष रातश का 10% एक ट्रस्ट को िान ि ेितेाह।ै उसके पास अब #10080 शेष ह,ै तो

उसकी आय क्या ह?ै



(a) रु 7,800 

(b) रु 7,000

(c)   रु 8,000 

(d) रु 7,500

4. Out of his total income, Mr. Kapoor spends 20% on house rent and 

70% of the rest on house- hold expenses. If he saves रु 1,800 what is 

his total income (in rupees) ?

तम. कपूर अपने कुल वेतन का 20% घर के ककराएपर और शेष वेतन का 70% घरेलू 

खर्ों पर खर्च करते हैं। यकि उनकी बर्त 1800 रुपये ह,ै तो उनका वेतन ज्ञात करें।



(a) 700000

(b) 369200

(c) 68921

(d) 68911

5. A district has 64000 inhabitants. If the population 

increases at the rate of 2
𝟏

𝟐
% per annum, the number of 

inhabitants at the end of 3 years will be:

एक तजले में 64000 तनवासी ह।ै यकि जनसंख्या वृति िर 2
𝟏

𝟐
% 

वार्षचक हो, तो 3 वषच के अंतमें तजले में ककतने तनवासी होंगे?



(a) 57,600

(b) 56,700

(c) 76,000

(d) 75,000

6. The population of a town 2 years ago was 62,500. Due to migration 

to big cities, it decreases every year at the rate of 4%. The present 

population of the town is:

2 वषच पहले एक शहर की जनसंख्या 62,500 थी। बड़ ेशहरों की ओर स्थानांतरण के 

कारण

प्रततवषच जनसंख्या 4% की िर से घटती ह,ै तो शहर की वतचमान जनसंख्या ककतनी ह।ै



(a) 12% 

(b) 7%

(c)   8%

(d)  13%

7. Ram's expenditure and saving are in the ratio 5: 3. If his income 

increases by 12% and expenditure by 15%,then how much percent 

does his

savings increase ?

राम के खर्च तथा बर्त का अनुपात 5:3यकि उसकी आय 12% बढ़ जाती ह,ै और खर्च

15% बढ़ जाती ह ैतो उसकी बर्त ककतना प्रततशत बढे़गी?



(a) 33%
(b)    𝟑𝟑

𝟏

𝟑
%

(c)   35%

(d)  40%

8.A man spends 75% of his income. His income increased by 20% and

he increased his expenditure by 15%. His savings will then be 

increased by: 

एक व्यति अपनी आय का 75% खर्च कjrk ह ैउसकी आय 20% बढा िी जाती ह ैऔर 

वह अपने खर्च में 15% की वृति कर ितेा ह,ै rks उसके बर्त में ककतने प्रततशत की वृति 

हाsxh\



(a) 44% 

(b) 34%

(c)   54%

(d)  64%

9. A student multiplied a number by 
𝟑

𝟓
instead of 

𝟓

𝟑
. 

What is they instead of percentage error in the 

calculation ?

एक छात्र एक संख्या को 
𝟓

𝟑
के बिले 

𝟑

𝟓
ls गुणा करता ह,ै तो उसकी 

गणना में ककतने प्रततशत की त्रुटट होगी?



(a) 
𝟐𝟒

𝟏𝟗

(b) 
𝟑

𝟏𝟖

(c) 
𝟗𝟓

𝟒𝟖

(d) 
𝟒𝟖

𝟗𝟓

10. If the numerator of a fraction is increased by 20% 

and the denominator is decreased by 5%, the value of 

the new fraction becomes
𝟓

𝟐
The original fraction is:

यकि ककसी तभन्न का अंश 20% बढ़ा किया जाए तथा हर 5% घटा किया 

जाए तो तभन्न
𝟓

𝟐
हो जाती ह,ै तो वास्ततवक तभन्न क्या ह?ै



(a) 6% 

(b) 4%

(c) 5% 

(d) 7.2%

11. If the income tax is increased by 19%, the net 

income is reduced by 1%. The rate of in come tax is:

यकि आयकर में 19% की वृति होती ह ैतो प्रभावी आय में एक 

प्रततशत की कमी होती ह।ै

आयकर की िर ज्ञात करें?



(a) 75%

(b) 88%

(c) 55%

(d) 85%

12. The population of a village is 25,000. One-fifth are females and the 

rest are males, 5% of males and 40% of females ,uneducated.What

percentage on the whole are educated ?

एक गााँव की जनसंख्या 25,000 ह।ै जनसंख्या में 
𝟏

𝟓
मतहलाएाँ हैं तथा शेष पुरूष हैं। 5% 

पुरुष तथा 40% मतहलाएाँ तनरक्षर हैं, तो ककतने प्रततशतलोग साक्षर हैं?



(a) 48

(b) 52

(c) 60

(d) 40

13. If the length of a rectangle is decreased by 20% 

and breadth is decreased by 40%, then will be the 

percentage decrease in the area of the rectangle?

यकि एक आयत की लम्बाई में 20% की कमीकी जाती ह।ै तथा 

र्ौड़ाई में 40% की कमी कीजाती ह,ै तो आयत के क्षेत्रफल में ककतने 

प्रततशत की कमी होगी?



1. (a) 2.5% increased

2. (b) 3.5% increased

3. (c) 2.5% decreased

4. (d) 3.5% decreased

14 . If the height of a cylinder is increased by 15% and the radius of 

its base is decreased by 10%then the percentage change in its 

curved surface area is :

यकि बेलन की ऊाँ र्ाई को 15% बढ़ाया जाता है तथा इसके आधार की तत्रज्या को 

10%घटाया जाता ह,ै तो बेलन के पृष्ठ क्षेत्रफल में ककतने प्रततशत का पटरवतचन होगा?



(a) 19

(b) 20

(c) 21

(d) 23

15. If the radius of a circle is decreased by 10%, then 

what will be the percentage decrease in the area of 

circle?

यकि एक वृत्त की तत्रज्या में 10% की कमी को जाती ह,ै तो वृत्त के 

क्षेत्रफल में ककतने प्रततशत की कमी होगी?



(a) 30

(b) 20

(c)  22 

(d)  12

16. If the base of triangle is increased by 10% and 

height is decreased by 20%, then what will be the 

percentage change in the area of a triangle?

यकि एक तत्रभुज के आधार में 10% की वृति की जाती ह ैतथा ऊंर्ाई 

में 20% की कमी की जाती ह,ै तो तत्रभुज के क्षेत्रफल में 

ककतनाप्रततशत का पटरवतचन होगा?



(a) 75% 

(b) 42.86%

(c) 30% 

(d) 50%

17. Two numbers are 30% and 60% lesser than a third number, By

how much percent is the second number to be enhanced to make

it equal to the first number?

िो संख्याएाँ एक तीसरी संख्या की तुलना में 30% और 60% कम ह।ै िसूरी संख्या को 

पहली संख्या के बराबर करने के तलए ककतने प्रततशत बढ़ाना होगा?




